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Dialogue 1

Answer questions 1 to 3

Question 1

The trouble of JAS86AE occurred on its ...

1. hydraulic system.

2. fuel system.

3. braking system.

4. steering system.
Question 2

JA001G declined the controller's offer because ...

1. the pilot wanted to save time.

2. there was not enough preparation time.

3. the takeoff weight was not so heavy.

4. the takeoff distance was insufficient.
Question 3

The taxiing route of JA001G after T3 was via the runway to ...

the departure position of runway 09.
the departure position of runway 27.
its spot.

the maintenance area.
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Dialogue 2

Answer questions 4 to 6

Question 4

What was the reported Obihiro weather?

1. Wind 200 degrees at 22 knots and QNH 3001.

2. Wind 200 degrees at 22 knots and QNH 3010.

3. Wind 220 degrees at 20 knots and QNH 3001.

4. Wind 220 degrees at 20 knots and QNH 3010.
Question 5

What was the first controller's transmission to JAS6AE?

1. To hold in the runway.

2. To hold short of the runway.

3. To authorize its takeoft.

4. To report when ready.
Question 6

JASG6AE eventually vacated the runway due to ...

an ATC instruction.

a vehicle on the runway.
an arrival aircraft.

its performance.
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Dialogue 3

Answer questions 7 to 9

Question 7

The takeoff was aborted due to ...

ATC instruction.
hydraulic failure.
control trouble.

wind conditions.

PO

Question 8

The instruction to JAS6AE was to pick up ...

A2 and taxi to spot 1.
A2 and taxi to spot 2.
A3 and taxi to spot 1.
A3 and taxi to spot 2.

i

Question 9

JAS6AE did not accept the ATC instruction due to ...

slippery surface.
aircraft weight.

airport layout.
maneuvering difficulty.
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Dialogue 4

Answer questions 10 to 12

Question 10

What was the first trouble JAS6AE experienced?

1. Hydraulic system failure.

2. Engine malfunction.

3. Engine fire.

4. ATC instruction.
Question 11

JASGAE stopped on the runway, because ...

1. of the other conflicting traffic.

2. of the runway contamination.

3. it could not taxi by itself.

4. 1its spot was not yet allocated.
Question 12

The controller probably coordinated to send ...

a tow truck and medical staff.

a tow truck and maintenance personnel.
an operation's car and a cargo truck.

a fire engine and paramedics.

PO



Dialogue 5

Answer questions 13 to 15

Question 13

What was the nature of the trouble JAS6AE encountered?

1. SID misunderstanding.
2. A troubled ground facility.
3. A receiver failure.
4. Pilot's illness.
Question 14
JAS86AE would have made ...
1. a VOR low approach.
2. an emergency landing.
3. apriority landing.
4. anormal landing.
Question 15

JAS6AE requested a wide pattern, because it needed ...

1. ground support.
2. spare time.

3. refueling.

4.

to check cloud conditions.



Dialogue 6

Answer questions 16 to 18

Question 16
JAO07JB reported ...
1. light turbulence.
2. light plus turbulence.
3. moderate turbulence.
4. severe turbulence.

Question 17

JAO7JB was approved to change altitude to ...

10,000 feet.
11,000 feet.
12,000 feet.
13,000 feet.

i

Question 18
JAO07JB was instructed to ...

report weather condition.
change in flight levels due to traffic ahead.

change speed due to traffic ahead of him.
maintain speed 200 knots.

PO
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Dialogue 7

Answer questions 19 to 21

Question 19

The pilot wanted to change altitude because of ...

1. moderate turbulence.

2. an aircraft ahead.

3. 12,000 was clear of traffic.

4. accumulated ice on the airframe.
Question 20

The PIREP indicated that ...

i

there was no icing condition at 12,000.
there was turbulence at 12,000.

it was clear of weather at 12,000.

there was severe icing condition at 12,000.

Question 21

The pilot was not able to accept 12,000 because of ...

PO

moderate icing condition.
the aircraft’s performance.
limited fuel condition.
another traffic.



Dialogue 8

Answer questions 22 to 24

Question 22

The unknown aircraft was ...

1. atwin turboprop.

2. aheavy jet.

3. atactical jet.

4. alight plane.
Question 23

The pilot reported that he ...

1. could avoid the traffic.

2. was behind the traffic.

3. saw the traffic above him.

4. saw the traffic below him.
Question 24

JA07JB wanted to descend because ...

of rough air.

he had to avoid the fighter.
the unidentified traffic.

he was in a hurry.

PO



Dialogue 9

Answer questions 25 to 27

Question 25

The problem seemed to be ...

PO

the coolant was overheated.

the battery became too hot.

the landing gear was unsafe.

the operating fluid was insufficient.

Question 26

The pilot requested to ...

i

proceed to Takamatsu airport.
climb as soon as possible.
land immediately.

descend to 6,000.

Question 27

The controller wanted to know if the pilot could ...

PO

receive his transmissions.
tune Kibi VOR.

turn right heading.

climb to 6,000.



Dialogue 10

Answer questions 28 to 30

Question 28

What was the nature of trouble of JAS6AE?

1. Landing gear was not retracted.
2. Hydraulic system failure.
3. Fuel transfer.
4. Asymmetric flaps.
Question 29

JASG6AE would have executed ...

1. ILS approach

2. VOR approach.

3. Visual approach.

4. Contact approach.
Question 30

JAS86AE would have been cleared for the approach ...

when the landing gear had been extended.
after landing of an inbound traffic.

after a departure traffic was airborne.
upon arrival of a towing tractor.

PO



Dialogue 11

Answer questions 31 to 33

Question 31

What was the first instruction for JAS6AE?

To execute ILS approach.

To proceed to runway 36 final.

To proceed to the west downwind.
To proceed to the east downwind.

PO

Question 32

What was the nature of the trouble of JAS6AE?

Engine fire.

Propeller malfunction.
Bird strike.

Near midair collision.

i

Question 33
JA82BJ was most likely to ...

join the left traffic.

execute the missed approach
continue its approach.

hold in the airport vicinity.

PO



Dialogue 12

Answer questions 34 to 36

Question 34

What was the reason of the go-around?

1. An aircraft limitation.

2. An ATC instruction.

3. Other traffic.

4. Wind shear.
Question 35

The request after the go-around was not authorized due to ...

1. a departure aircraft.

2. an arrival aircraft.

3. controller's workload.

4. wind conditions.
Question 36

JAS6AE would have reported its position next ...

on the south downwind.
on the north downwind.
at SOUTH POINT.
at 3 miles on final.

PO



Dialogue 13

Answer questions 37 to 39

Question 37

JAS6AE requested an emergency landing due to ...

1. asick passenger.

2. lack of fuel.

3. pilot's incapacitation.

4. unruly passengers.
Question 38

JASG6AE requested ...

1. emergency landing.

2. priority landing.

3. atowing truck.

4. a fire engine.
Question 39

ATC recommended JASGAE ...

hold on the taxiway.

stay in the runway.

taxi to its spot.

vacate the runway immediately.

PO



Dialogue 14

Answer questions 40 to 42

Question 40

The nature of the problem was that ...

1. the slide door was open.

2. acontrol jam happened.

3. the seat latch was broken.

4. rough air was encountered.
Question 41

What was the reason of going around?

Due to seat malfunctioning.
Due to training purpose.

Due to fluctuating airspeed.
Due to unstable approach path.

i

Question 42
What was the pilot's intention after going around?

To hold on the left traffic pattern.
To hold on the right traffic pattern.
To land via left traffic pattern.

To land via right downwind.
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